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% my/ ¢
44 1(2.3) 0 100 0.01
44 0 0 100
44 2(4.5) 0 100 0.01
44 0 0 100 0.05
44 2(4.5) 1 97.7 0.01
44 0 0 100 0.00 8
44
44 0 0 100
44 0 0 100 0.02
44 0 0 100 0.002
44 0 0 100 0.002
1,2- 44 0 0 100 0.004
1,1- 44 0 0 100 0.1
1,2- 44 0 0 100 0.04
1,11 - 44 1(2.3) 0 100 1
11,2 - 44 0 0 100 0.006
44 0 0 100 0.03
44 1(2.3) 0 100 0.01
1,3 44 0 0 100 0.002
44 0 0 100 0.006
44 0 0 100 0.003
44 0 0 100 0.02
44 0 0 100 0.01
44 0 0 100 0.01
44 419 ) 0 100 10
44 34(7 B) 0 100 0.8
44 132 %) 0 100 1
14- 44 0 0 100 0.05
8 0 100 1pg- TEQ/ ¢
44
44
44
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% mg/ 2
31 0 0 10 0.06
1,.2- 31 0 0 10 0.06
P 31 0 0 10 02
31 0 0 10 00 8
31 0 0 10 00 6
31 0 0 10 00 8
31 0 0 10 0.04
31 0 0 10 0.04
31 0 0 10 0.05
31 0 0 10 00 8
31 0 0 10 00 6
31 0 0 10 00 8
31 0 0 10 0.03
31 0 0 10 00 8
31 0 0
31 0 0 10 06
31 0 0 10 0.4
31 0 0 10 0.06
31 7(22.6) 0
31 0 0 10 0.07
31 1(3.2) 0 10 0.02
31 0 0 10 0.00 @
31 5(16.1) 2 935 02
31 1(3.2) 0 10 00 @
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No. PCD B3+PCDFs | Co- PCBs
1 2 00 8 0.0 @9 00 2
2 2 00 8 0.0 @9 00 2
3 2 00 4 0.0 65 00 &
4 2 0.12 0.0 @O 0.12
1
5 2 00 2 00 @1 00 9
6 2 00 8 0.0 @9 00 2
7 2 00 8 00 a4 00 38
8 2 00 8 0.0 @9 00 2
pg- TEQ/
mg/ 2
2 0 0 2
3 0 0 3 0.01
5 2(40.0) 2 3 0.01
18 0 0 18 00 @
1,2- 21 0 0 21 00 a
1,1- 21 3(14.3) 0 18 0.1
1,2- 21 2(9.5) 0 19 0.04
11,1- 21 8(38.1) 0 13 1
11,2- 21 0 0 21 006
21 2(9.5) 1 19 0.03
21 1 152.4) 3 10 0.01
2 0 0 2 0.01
14 14(100) 9 0 10
1 1(1 0)0 1 0 0.8
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